
THIS DRAWING, INFORMATION AND THE SUBJECT
MATTER THEREOF, ARE THE SOLE AND EXCLUSIVE
PROPERTY OF HARSCO INDUSTRIAL, PATTERSON-KELLEY,
EAST STROUDSBURG, PA 18301 USA.
IT MAY BE REPRODUCED BY THE PURCHASER OF THIS 
EQUIPMENT FOR THEIR INTERNAL USE ONLY. IT 
CANNOT BE DISTRIBUTED TO ANY OTHER FIRM OR 
PARTY WITHOUT WRITTEN CONSENT FROM OUR COMPANY.

East Stroudsburg, PA 18301
570-476-7261

www.harscopk.com

3C2661000037PRINT
NO.D

08-07-14  LSWAPPROVED

08-07-14 LSWCHECKED
VER.REV.

FILE
SIZE08-07-14VNDRAWN

REFERENCE NO.DATEBY1 OF 2

ASSY,MOD,GAS_TRAIN,SC4000,LP,NUROTITLE

APPROX.
WEIGHT

LBS.FULLSPOTNONE

DESIGN
PRESS.NOYES

TYPE X-RAYASME CODE

DATECK'D.BYDESCRIPTIONREV.

08-07-14 LSW VN RELEASE FOR REVIEW A 

10-27-14SDSCN #861 - CHANGE FROM STAR WASHER 
NUTS TO FLANGE NUTSB

12-04-14SDSLABCN #924 - ADDED SILICON TUBE AND
 BARBED FITTINGC

SCALE  0.250



THIS DRAWING, INFORMATION AND THE SUBJECT
MATTER THEREOF, ARE THE SOLE AND EXCLUSIVE
PROPERTY OF HARSCO INDUSTRIAL, PATTERSON-KELLEY,
EAST STROUDSBURG, PA 18301 USA.
IT MAY BE REPRODUCED BY THE PURCHASER OF THIS 
EQUIPMENT FOR THEIR INTERNAL USE ONLY. IT 
CANNOT BE DISTRIBUTED TO ANY OTHER FIRM OR 
PARTY WITHOUT WRITTEN CONSENT FROM OUR COMPANY.

East Stroudsburg, PA 18301
570-476-7261

www.harscopk.com

M
A

R
K QTY

EA
QTY
UM PART NO. MAT'L

SPEC DESCRIPTION

1 1 4.67FT 2600000048
SILICONE

TUBE,SILICON_RBR,4MM_IDX8MM_OD,TRANSLUCE

2 1 EA 2640000304
BRONZE

V,GAS_COCK,1-1/4"NPT.KH01/6-12(SPECIAL) 

3 6 EA 2660000060
STL

NUT,HEX,FLNG,SERRATED,3/8"-16NC,ZP

4 1 EA 2660000346
VARIOUS

SW_ASSY,LOW_GAS_PRESSURE,NURO

5 1 EA 2660000347
VARIOUS

SW_ASSY,HIGH_GAS_PRESSURE,NURO

6 1 EA 2660000349
PLASTIC

PLUG,3-1/8",ROUND,W/FLG,PLASTIC,BLACK,

7 1 EACH 1003500113
VARIOUS

V,GAS_COCK,1-1/2",CONBRACO#50GB7A1A 

8 1 EACH 1004907636
MI, STL

CLP,1-1/4"LOOP_STRP,MI,STL,GALV, 
GALV

9 2 EACH 1004907996
MI, STL

CLP,1-1/2"LOOP_STRP,MI,STL,GALV, 
GALV

10 1 EACH 2300000009
ALUM.

FLG,V,GAS,DUNGS,1-1_4FPT,D222370

11 2 EACH 2300000018
BRASS

ADPTR,1/8"FNPT-1/8"-28,MALE_BSP/ISO_PRL 

12 3 EACH 2300000119
STAINLESS

NIP,PRESS_MEASURING,DUNGS,D219008

13 1 EACH 2300000374
STEEL

NIP,1-1/4"X.140"WX9",STL
-

14 1 EACH 2300000423
ALUM.

SHTR,DUNGS,1-1_2FPT,255-133
-

15 2 EACH 2300000441
STEEL

ELB,45,1-1/4"SCRD,MI 

16 1 EACH 2600000152
BRASS

FTG,BARBED,BRASS,1/8"MPTX.170"ID_TUBE
-

17 3 EACH 2620000175
STEEL

ELB,90,1/8"FPT,MI 

18 4 EACH 2620000178
STEEL

SCR,TORX,PAN_HD,THD_ROLL,1/4-20X3/4
ZINC PLATED

19 1 EACH 2620000349
MI

WYE,1-1/4"FPT,MI 

20 2 EACH 2640000103
STEEL

STUD,3/8"-16NCX2",ZP
ZINC PLATED

21 1 EACH 2640000317
VARIOUS

HOSE,FLEX,SS,1-1/4"NPTX24"#16125BP24,PVC
-

22 1 EACH 2640000320
EPDM

GSKT,CPLG,GAS,MACH,1-1/2",EPDM
-

23 2 EACH 2640000424
SEAL- GSKT,GA-171-260-25,SEAL,GREEN,1/8THK, 14 x 10 x 

1.5MM.GREEN

24 1 EACH 2640000426
VARIOUS

V,GAS,DUNGS,MODEL#MBC-SE_2500/602_S02_262-633
-

25 1 EACH 2660000027
STL

PLUG,PIPE,SOL,1-1/4",HEX_SKT_HD,STL
-

26 1 EACH 2660000099
STEEL

CPLG,GAS,UPR,1-1/2"DIA,SC3000
-

27 1 EACH 2660000121
STEEL STUD,3/8"-16NCX3",ZP USE McMASTER-CARR P/N - 

95475A634 OR EQUIVALENTZINC-PLATED

28 2 EACH 2660000129
STEEL

NUT,HEX,M8X1.25,W/TOOTH_WSHR,ZP
ZINC PLATED

29 2 EACH 2660000130
STEEL

SCR,CAP,HEX_HD,FLNG,M8X1.25X40MM,ZP
BLACK

30 2 EACH 2660000187
STEEL

BRKT,SPRT,UPR,GAS_VLV,SC3000,SC4000

31 1 EACH 2660000190
STEEL

BRKT,SPRT,UPR,FRNT,MDL,GAS_VLV
-

32 1 EACH 8504518120
STEEL

BSHG,1-1/2"X1-1/4",MI 

33 2 EACH 8531313450
STEEL

ELB,90,1-1/4"FPT,MI 

34 3 EACH 8554500085
STEEL

NIP,1/8"X.068"WXCL,STL 

35 4 EACH 8554519985
STEEL

NIP,1-1_4X.140WX_CL,STL

36 1 EACH 8554520985
STEEL

NIP,1-1/4"X.140"WX3",STL 

37 1 EACH 8554521185
STEEL

NIP,1-1/4"X.140"WX4",STL 

38 1 EACH 8571017650
STEEL

CPLG,RDCR,1-1/2"FPTX1-1/4"FPT,MI 

3C2661000037PRINT
NO.D

08-07-14  LSWAPPROVED

08-07-14 LSWCHECKED
VER.REV.

FILE
SIZE08-07-14VNDRAWN

REFERENCE NO.DATEBY2 OF 2

ASSY,MOD,GAS_TRAIN,SC4000,LP,NUROTITLE

APPROX.
WEIGHT

LBS.FULLSPOTNONE

DESIGN
PRESS.NOYES

TYPE X-RAYASME CODE

SEE SHEET 1 FOR NOTES AND REVISIONS - CURRENT REV. IS C.3

ISOMETRIC VIEW
SCALE  0.250

 2 

 4 

 5 

 6 

 7 

 8 

 9 

 10 

 11 

 12 

 13 

 14 

 15 

 17 

 18 

 19 

 20 

 21 

 22 

 23 

 24 

 25 

 26 

 27  28  29 

 30 

 31 

 32 

 33 

 34 

 35 

 36 

 37 

 38  33 

 3 

 3  3 

 1 

 16 


	Sheet 1
	Views
	new_view_3


	Sheet 2
	Views
	new_view_1



